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University of Calgary - Department of Chemical & Petroleum Engineering Fall 2012

ENCH 501 Transport Phenomena Quiz #2 Name

Time Allowed: 35 minutes
Question #1 (4 points)

An object is to be photographed. The object, as estimated by the photographer, is at a distance x = 5+0.1
m from the lens. The image in the camera, as specified by the manufacturer, is at a distance y = 3£0.05
cm from the lens.

Estimate the focal length (f) of the lens and the error if fis given by the expression f= xy/(x+y).

Question #2 (6 points)

It desired to estimate the vapor pressure of propane. The data available from a laboratory are at -
42.05+1°C (vapor pressure equal 1£0.06 atm.) and at 2.09+1°C (vapor pressure equal 5+0.06 atm.)
Estimate the latent heat of vaporization (k)/kmol), the vapor pressure and their errors at -25.09°C.

The Clasius-Clapeyron equation is: In(P,/P;) = (AH,/R)(1/T; — 1/T,); where R is the universal gas constant
equal 8.314 kl/kmol K.
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